R1




C_:ﬂ=€} ——

( S 68 mm

e —  © = GREASE_|

iz
E—D [— b e
FU8X50 x6 3,5x32x8 3,5%9,5 X6 S6 x4
h 1984 h 2000
| N D> Q (>
N~ 4,5x60 x6 X6 4x35 x4
— \ﬁg Q\&
AN
\_/
X1 X2 X2 h 1967 mm h 1973 mm x1




n P Lmm
80 785-805 775-795
90 885-905 875-895
100 985-1005 975-995
m P Lmm
80x90 785-805 x 885-905 775-795 x 875-895
80x100 785-806 x 985-1005 775-796 x 975-995
90x100 885-905 x 985-1005 875-895 x 975-995
80x120 |  785-805x 1185-1205 775-795x 1175-1195
90x120 |  885-905 x 1185-1205 875-895x 1175-1195

[ I

L mm

675-695 x 875-895

70x90 | 685-705x885-905
80x100 |  785-805 x985-1005 775-795 X 975-995
80x120 |  785-805x1185-1205 |  775-795x1175-1195
L
~ R1
P
E
£
- 2 a
ry
N R
2 .
< S

EN

[ I
80 762-782 775-795

90 862-882 875-895
100 962-982 975-995

L mm

80x90 762-782 x 862-882 775-795 x 875-895
80x100 762-783 x 962-982 775-796 x 975-995
90x100 862-882 x 962-982 875-895x 975-995
80x120 | 762-782x1162-1182 775-795x 1175-1195
90x120 | 862-882x1162-1182 875-895x1175-1195

N

L mm

70x90 662-682 x 862-882

675-695 x 875-895

775-795 x 975-995

80x100 762-782 % 962-982
80x120 | 762-782x1162-1182 775-795x 1175-1195
L
§
= R1

L(-16 mm)

o d

16|

13




X2

ouT




g8 mm




fo

M5 x2

LIS
M5x8 x2

pm

M5x10 x2

[

M5x16 x2

1967 mm

- - -







wuw 0§ wuw o9

(> 3,5%9,5 mm x2

g3 mm

X2

w09

F == -

%)

A\
N
y
==

B

wuw 09




12

wu 0g
\
N\
7 7
-
]
K L]
(=]
© = £
X =2
T T
| 1
1 |
S (e e A
N\
1
|
il g = Wi g |
|
- ANY
B \
1
/\\ / XT3
AN
) yanvs y .
a, y ; \ \
\ \ O_ -
\ 1
\ /
A\ \ \ \ A ’
\/ / N ‘/\ v’
ww g = wuw os




wwog

|
\\/ %

N

(> 3,5%9,5 mm x4

®x4










é’; 7“7/)~

i

NN\

\

A ]
S /Q‘?
. <1 [ -
e ,/ I
e N .
/’ - .
- - ™ .
e RN .
e _ .
- - ™ .
e P N G
- L~ - \\
7, 2 ~ .
e I
N \
L~ ~
_ ‘
~ .
/ .
I I
s e .
e N .
-~ - -
N




CLEANIT

OR
WATER ONLY

14




Note:

15




60100DY2_07 (07 2021)




